BIC

log[ Relative Probability ]

—6x10% —4x10* —2x10*

Window Half—Width (km/s)

10’

108

10°

0

100 1000 10*

10

rm887 2/(411454 ~5083)=25.471

L BIC 10416465 00 ABIC 201.000 AIogP —43.6466
xz 10350755.00 AX 201.000 AlogP —43.6466

30 iterations

rm887 2/(411454 ~5083)=25.471

1 BIC 10416465.00 ABIC 201.000 AIogP —43.6466 1
............................... x> 10350755.00 Ax? 201.000. AlogP. —43.6466. ]

Fe2 1% 0+0 km/s

rm887 BLR 3000 NLR 800 km/s
F——+~ "~ 1 T T T T T T T T T T T T T T T T L e
I 5083 ]
I N ]

| | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
5 10 15 20 25 30

30 iterations

kdh1 15-0ct-2021 22:05

B

BLR

NLR



